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Section A (30 x 2 marks)

For cach question from 1 to 30, four options are given. One of them is the correct
answer. Make your choice (1,2,3 or 4), Shade the correct oval (1,2,3 or 4) on the

Optical Answer Sheet.

1. The diagram below shows a system of four gears, &, B, Cand D,
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If gear A spins clockwise, which way do the other gears
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3. The table shows how fruits can be grouped.

A few seeds Many Seeds

Thin skin | A B

Thick skin _ C

]
2

In which box, A, B, C or D, would you place jackfiuit?

(1) A
2) B
(3)C
(HD

4. The graph below shows how the termnperature of two beakers of water, A and 1,
changes over time. '

A
100 b

Temperature Y ]
0 50

Time {minutes)

Study the graph abbve carefully. Which one of the following statements interprets
the graph correctly?

(1) There were ice cubes in Beakers X and Y.

2) Both beakers of water boiled at the same time.
(3) Beaker X was heated over a stronger flame than |
(4) Beaker Y was heated over a stronger

www misskoh com
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5.

Mike had 2 glass tank containing some earthworms, dead leaves and maize seeds.
He added another animal into the tank. He ohserved the tank for a few houes,
Then he drew a graph to show his observations.

Population
of

§

Dead leaves

T T e o

=

_Maize seeds

Time (hours)

By looking at the graph, we can tell that the animal that Mike put in was a

WWW. IS Skoh com 546 of 618.




6. The diagram shows the' Wong famuly trec.

Mr Wong

dark complextan
detached earlobes

Lance

: . A !
dark complexion ferr complexion
A .
attached earlobes attashed earlobes Ay

Which of the children inherited one feature only from each parent?

(1) Sandy and Sue only
{2) Lance and Leon only
(3) Lance and Sue only
(4) Sandy and Leon only
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7, Jare set up an experiment as shown below. The set ups were left in two different
places from § pam. to 4 pm,

- beaker

water plant

ion needs sunlight
s ceds sunlight
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8. thhmmoﬁmimmwmgmmmmmcmm&hwhm&nmgwwhoiwwnwwm
fortilisation taking place at the correct stage?

flower o \ seedling
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gases, oxygen and carbon
orem shows the parts of the

o

9. The crrcudate 1 earries blood contatung the
dioxide, thro blood vessels in the body, The diz
circulatory system '
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The map shows seven factories, T, U, V, W, X, Y and Z, along a river system and
the types of aquatic animals, A, B, C and D found there, The arrows show the
direction the rivers flow.

Hot water discharged from some factories increases the water temperature of the
river nearby, '

Aguatic apimals A and Bare found In areas where the water temperature is lower,
Aquatic animals C and D arc found in areas where the water temperature is higher.

The diagram shows where agquatic amumals A, B, Cand D can be found.

i

A

et I
;‘.‘P-Ewhun.n

KEY

N
1{\“\‘:"“;@3 Factory River

Which factories are most likely to be discharging hot water into this river system?
(T, Wand X only

() U, Vand Z only

(3) V, Y and Z only

(4 W, Xand Y only
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11 The classification diagram below shows the headings for two groups of otganisms,

rganisme

single cell - . more than one cell

Which one of the following can X and ¥ he?

X Y
m:m eba Paradrécium
Cow
Ant
Amoeba

nge the statements in tequcm & to show how global warming oceurs and its

rhon dioxide and harmtul gases are > released into the
atmosphers.
B T empera mw on Earth increases.

escaping mto
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. 13, Which set of pie charts shows correctly the percentage of gases present i the
air we breathe in and the air we breathe out?

N‘mxm,\(':‘l'n rhyn oliaxide

( 1 ) : Carban discids
Sl Oxvgen

E

rvgent.

2,
ol
o

(2) [

» ;-«NL.:' rhan dioxids
T

: ”)\)ger\i\

; L

Carbon dioxide

Quxygan

N | T our
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For questions 14 and 15 use the information below.
Tessica wanted to examine the effect of fertiliser on four balsam plants, P, Q,Rand 8

1
over a period of time. At the start of the experiment, each plant was about 10 em tall and
had & dark green leaves of about equal size.

The table below shows the amount of water and fertilizer given to each plant,

Plant P Plant Q Plant R Plant 5
Amount of water s &0 &0 20
per day (ml) l
“\j‘l\otml m & drops every S days 0 6 drops daily 0
’ !

N\ at P Plant Plant R Plant S
. Height of plants { 20 12 13 10
Number of lea 13 8 10 2
Colour of leaves dark green dark green dark green | yellowish green
14, W ave on the plants?
Number of leaves
decreased
increased
increased
stayed the same
15. control™ for this experiment?
www. misskoh com 554 of 618.
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16. The graphs below show the temperature of water in ¢ containers, A, B, Cand 1.
Which container of water undergoes changes in all three states?

() A
100 e

80 —
Temperatore ..
Lac) (:)O e
AﬁlO ——e "
20
0 ¥
Time (min)
Container A
(2) A
100
30wt
Temperature .
o 60 =
40
20 —_ ARG
0 o
Time (mind
Container B
( 3 ) A
Temperature
o
}:{:
Time {min}
Container C
(4) A
100 —
80 ek
Termperature o
o » T
Fak Q. '
O e s

Time (min)

Container D ;
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The chart below shows that animals can be classified according to their cuter
body caverings.

Animals

- Prawn:
~Crab ¢
Tadpele

We can conelus

de that the plant

d by animals
astible seeds
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19, Look at the foc)d'web below,

ﬂ WOTrm

plant
mouse

snake

Which one of the following graphs shows the inumediate change in the population
of snake when the population of plant increases? '

0y (2)

E al

population population

M

.l o DmE

LS

(3) (4)
population = - ponulation
A A

» time . w time
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20. The diagram below shows how 4 magnets are joined together,

Whieh

C D

Noxth North
South South
South Worth
South Kouth

fossi fuels 18 not true?

L in the ground. ‘
: sit fuels causes air pollution.,
(4) The usage of fossil fuels causes the depletion of azone layer,
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22.  Study the diagram below.

The increase in the temperature of the aiv will directly affect one of the above
processes, A, B, C or D and cause it to increase in rate. The process is |

(1) A

2) B
(3)C
(4) D

23 Which one of the following adaptations enables the camel to live in the desert?

(1) The hump stores water.

(2) The long lashes protect the eyes fi¢
-(3) The bristles under the feet prevent it {r
(4) The thin skin on the knees allows heat to

. S
sinking into the sand,
escape rapidly.

WWW Inisskoh com 559 of 618.
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24, - table below shows the length of the shadow of a stick at different times of the
o , L. S rr B
J T1me : 8 am 10am 12 pm 2pm fpm |
b PO — P — — .
| Length of shadow (cm) 80 40 { il &0 |

Which one of the following graphs comresponds to the table?
' | | [ Lo B
; ! ! i [
Sam Wam Zpm 2pm dpm
Time
{2} 3
R
4 i 3 oo B
! ! i { o
Sam 10am iZpm 2pm dpm
Time
{33 4
] 4 (VPRI T,
[ R R N
Bam 0am (Zpm Z2pm 4pm
Time
(4 oy
t‘,‘ﬂ
/
;
d
&
J'f i 3 4 iy
{ ! ] 1 i
Bam 1Qam 1Z2pm Zpm 4 pm
Time
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25.  The diagram below shows objects in the Solar System.
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Descriptions about each object ave given below,
o  Object A is a source of light.

¢ Object B moves around object A.
¢ Object C moves around object A.
»  Object D moves around object C

What could the object be?

A B C D
(1) Sun Mercury | Earth. Moon
(2) | Sun Earth Moon Mereury
JE) Moon Earth Mercury Sun
(4) | Moon Mercury | Earth Sun

26, Sugar +Oxygen ~ P Carbon dioxide + Water vapour + Energy

things. What process does

i h

The above shows a process that happens in Livie
represent?

i

(1) Respuration

(2) Photosynthesis
(3) Fermentation
{(4) Decomposttion

WWW Inisskoh com " 561 of 618.
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27, Four cireuits using similar batteries and bulbs are shown below.

Circuit O ' Circuit D

Tnwhich two circuits are the bulbs of equa) brightness?

d
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28,

Before

The pictures above show that a force can

(1) change the shape of an object.

(2) change the direction of a moving obj
(3) move a stationary object.

(4) slow down a moving object.

Which one of the following actions will slow down the depletion of natural
resources?

(1) Increasing the world population.

-(2) Protecting our rainforests.

(3) Building more factories.
(4) Increasing the number of cars.

WWW Inisskoh com
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30. Study the flow chart carefully.

e
S,

_“W?ha.i; doss |

bigh melting point

YES

B

tier A, B and C represent?

-
et

YES

B

¢

(-

()

Cerarmics

Fubber

woodl

plastic

rubber

CETEINIies

plastic

¥

WO
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Section B: Write your answers to questions 31 to 46 in the spaces provided.

3L

Water

Hydrilla .|

Mike set up an experiment using a hydritla plant as shown i the diagram below.

thn om per minute by the bwhﬂla H\

torch light further from the beaker 5 em cach tim

d th .‘»'t‘”‘;'ﬁl

Ie '
=8

He then plotted the graph shown below with the results he obtained.
‘ A&
12
: , 10
Number of gas o N
bubbles given 8 \\
out per minute e
2
0 - !
5 10 {5 20 Distance between Ht‘&ke&‘“
and torch light (cm)
(a) Based on the above graph, what pattern do you sse between the number of gas bubbles
given out per minute and the distance of the bmkw from the torchiight? [1] '
(b)  Whatis the process that is taking place in t the plant that could produce the bubbles -

of gas? {1]

X

www Irnisskoh com
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32, Sanjay took two identical empty bottles and 2 glass tubing and connected them as
shown in the diapgram below. In the glass tubing he had added a drop of red ink. He
then placed cach of the empty bottles in a basin of water. '

empty
bottles

Basin Y

(&) iy the table b
- “Toward
temp

ature of water { ¥ {1} Direction of movement of the
Basin Y drop of red ink

(S 10 20

Temper
Basin X
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33,

i/,?

Plant X Plant Y l

(a) Which plant, X or ¥ is most likely to be up om d during a storm? {1]

() Give a reason for your answer in part {&). {1}
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A4,

as shown in the diagrams below,
srvand gave them the same amount

den and

s at the same place in the

James grew some bean plants in two similar pot

He placed both p

of water daily.

he average hemm of the plants in Pot A and Pot B once every two

he plotted the graph shown t below based on the results that

t the average height of the plants in each pot

he «:\“b'm %
Tines P

568 of 618.

A
1
3
o
Height |
n cm |
e
Days
(z)  Which line, ¥ wm _____ ), fepresents the height of the plants n Pot B? {13
(5)  Explain why you think so. 21
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35.  Amy placed an opague object in the middle of a glass table. She then shone a toreh
~light from-different positions X, Y and Z towards three walls, Wall A, Wall B-and. -
Wall C as shown in the diagram below, "

I
i

{Wall A ' \ Wall C %
L ) i . N ‘ L ,H;.M.H_..M:_._._.,W%

D‘f"“*”\

WZ{EE?_“_\

__________ |

Draw the shadows caston Walls A | B and C in the boxes provided below: [3]

Wall A Wall B Wall C
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The tlow chart bel d’x’*&*’ Shows the eharacteristics of someplantsand the-way they—-
reproduce themselves. Study the chart caminHy

"

B
;
sl

Yes
Does it have fleshy

Does it grow from underground stem? |y,
‘ scale leaves?

No ; No L —
v b ()
| : Yes oYes
2 Does i i grow fron n xuuketq? l — g\ Tipes it bear fruit? ﬁ ——lu{ |
L ] !
- . ‘
Mo Niy |

| Does it grow from leaves? . : N  Yes .
§ . Does it bear flowers? |- w_,__y,,,,& o
{ | Y,

WNo

Use the information given in the thar’r and identify the plants histed { below. {2]

Plant Letter

Afdcan violet

Fanana

Onion

Pineapple
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3%, The diagram below shows a food web in a community.

(2) If B is a camivore, which arrow is wrongly placed?
Circle the wrong arrow. {1]

(b) Name two orfinivores in the food web, £

(G —— 4]
G) . S
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40.

(@)

(b)

Eric camed out different activities for the

represented by the letters A, B, Cand D, |
pulse rate for each activity. The results are recorded in the table shown below.

same duration. These activities are
He then rmeasured his bwnthmg rate and

Activity Pulse rate/min Breathing rate/m m MMMMMMMM ]
B 8 65 30
B 70 MR; ““““““““““““““““““ N
€ 105 B
° 130 65 |
j

Complete the table below by writing the letters -‘\ ‘P
description of the activities that Ene had carried

Deseription of activities

Cand Dt
out. [2]

o matoh ths

Watching television

Running

What is the relationship between

I 115 pulse rate and his bre mmw rate? {1)

4
A,

s

www misskoh com
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41.

E

An expetiment wag carried out to determine the effect of leftover food on the
growth of plants. Some leftover food was buried in Plot X, but not in Plot Y. The
quality of soil in Flot X and Plot Y were similar and the two plots of land were

1

]

given equal attention. The plant growth in each plot was observed over a peniod of

months and recorded in the table below,

Presence of Growth development of

P cot land . . .
Flots of land Jeftover food plants

More green and healthy

Plot X Yes )
leaves on plants.

Fewer green and healthy
leaves found on plants.

i the growth development of plants in the two plots of

Explain the difference
land. {11

il

et

he leftover food pollute the environment?
ranswer, [2]

Does buryi
Explain

3

WWW IniSSkoh com
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42. The classification chart below shows how some aquatic animals are classified |

M |
E
T
H '
0 |
P
i

0, %
F .
S i — i

O e YW
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{a)  Give suitable headings for groups Y and Z.

Bt

Group Y

Group 2.1

(b)Y - Inwhich group W, X, ¥ or Z should the animal shown below be classified? [1

e

Group

(¢} The tubifex worm cannot be placed in any of the given groups,
Explain why this 15 s0. [1]

WWW Inisskoh com 576 of 618.




43,

An iron nail is suspended frecly midway between Electromagnet A and

Electromagnet B.

C [ {@A’ o -
Iron o i

bar o L e

o DAADAN WANINAN

Y 2O
J } TN
E
# B e —

LT

Electromagnet B

Electromagnet A

If both circuits are closed, what will happen to the 1ron nail? {17

(&)

Explain your answer. {2]

(b)

WWW.InISskoh com
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44, The chart below represents reproduction in human beaings. Complete the chart by
writing the comect answer in each box. [2]

becomes

besomes

( A
¥ A4

; { \
Man % | Woman l
) ,
|
1
producss produces
i
i
¥ ‘

PSS,

i
i
/ canbe

T
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45, Ravitook two identical empty ting and made a hole in each as shown in the
diagram. He then plugged the holes with some plasticine and filled both ting with
the same amount of water. He put the tins on a balance beam as shown in the
diagram below.

Then Ravi removed the plasticine plugs on both ting at the same time to allow water
to flow out from the holes.

L VI

() Ifthe beam is balanced at the begl
to it after a short while. [1]

(®)  Explain your answer inpart (a). [2]
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46, |

Coretort

stand

You are given a retort stand, two pulleys, a length of string and a load of 600
as shown above.

Show by drawing i
the force n

1 the box below, how bes
1 the load is about hali

u can set up the apparatus-so that
he load. [2]

{
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HOKTIEN HUAY XUAN 5-SCHOOL PRIM
COMBINED PRELIMINARY EXAMINATI
SCITENCE

19,
1

Fon .3
ez CaF

L I

03. 4 13, (3) ok

04, (3) A4, 3 24. 2
05. 2 15, 2 25, 1
06. 4 16 4 £ 26, 1
07. 2 1704 27. 4
08. 4 18, () . 28. 3
09. 2 16, 3 29, 2
10. 2 20. 4 30.

oF
g

The greater the distanc
light, the lesser the n
per minute.

%) Photosynthesis.
a) i "Twwmréx e
Tb Wi PC\ in }

-

1)

a)
b)

Plant Y

are not able to hold

34) a)

b)

Line F

raller

gTrow

to get more
’/?/?

JA
\f/:";// ) ﬁ{f"

&%ﬁﬁﬁﬁy@

36)

a) It was to he

kL
the time taken for te cube of

see how

b) i) Volume of the sugar

1) Amount of water

www misskoh com
SIS

The roots in Plant ¥ are not spead out widely

Plants in Pot B are overcrowded so thaw
Light.

temperature

ARY
ON

&)

(1

(2)

& of the bheakar
wmber of gas bu

the torch

given

o

£

from
bhles

o

out

b) The air in the empty bottle
expands when

it is placed 4in
hotter water in Tasin Y and

d dnk

enp

hottle which is placed

the colder water.

and

the tree firmly to the ground,

nead to

sun.

4
=

H

afferted

olve.

the
to

0O
sugar

water

4

=

Ptierd

di

cuone., !
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36)

L0

7

I~
[
Ly

(o
£
L JT

Light Heat
Energy Edergy

Light Energy
Sound Energy

a) R . The greater his pulse rate, the
C ‘ his breathing rate

a) When the

over food decomposed, it released o
for the pl

1ts in Plot X, so thev grew hetter.

the food is not buried properly, it will

nd give off an unpleasant smell

S

) Breathe through gills
1.

eatie through breathing tubes.

3z
:F_?.
-

by W

nonail will be attracted to Electromagnetr
B, thus A has more magnetic forc

aperms ago girl hoy

a) Tin A would be heavier than Tin B, =0 Tin A woul
lower than Tin B.

a bigger hole, o water flowe out of =
rate, More water flows out of Tin B,

iighter than Tin A.

DN SRS
s

; ”—LM !
g k foos

S
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For-each question from 1 to 30, four options are given. One of them is the
correct answer, Make your choice (1, 2, 3 or 4). Shade the correct oval {1, 2, 3
or 4} on the Qptical Answer Sheet, :

1. The diagram shows a cell from the outer. covering of an onjon. Which part
allows some, but not all, substances to pass into and out of the cell?

A B ]

jrams show four different cells as seen through a microscope.
Which cell has no nucleus?

(@)

" i At ey e
it g, B
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el

Which structures are present in an animal cell?

cell membrane

cell wall

cytoplasm
N

(1) X \ N |
(2) V X X N
(3) J X 3 %
(4) J v X J

N —— structure present
) — structure absent

4, The diagram shows a section of a stem.

Which is the main transport function of tissus Q7

Substance Carried from Garried to
transported
N sugar roots leaves
(2) | sugar leaves roots
(3) water roots leaves
(4) water leaves roots

Which of the following represents the shortest path taken by the blood
travelling from a leg to an arm in a human body”?

a1

teg —= heart—> lungs — heart—> arm

——i

leg > heart~> lungs > am

leg =2 fungs— heart — am

leg — lungs— heart - arm
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B, The diagram s

Fertilisation
1 Y
(2 X
(3) Z
(4) z “
7. Four pupils classified some plants accordin t how they reproduce
vegelatively, Based on the table, which pup ili d‘xt‘ssif’i@d all the plants
« correctly?

Pupil teaf or leaf Sucker Underground | Storage root

] cutling em

{1 X Begonia Pineapple rrot Groupdnui
{9 th‘m hyllum Tapigca >Einger "*‘u rnip
(3) n tulip Ginger > Onion 91*%5?‘5% W Aieh
(4 rviolet | Sealingwax | Potato Sweet potato

' _ Cpalm \
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.
a.

Which one of the following labelled joints moves in the same way as
. Joint P7

(3 ¢ @ D

9. Draining stagnant water is one method of ¢

e population of

~mosgquitoes. Which stages in the life cyele of a mosquito does this method
control? ' '

egy, larva, adult
egq, larva, pupa
egy, pupa, adult
larva, pupa, adult

-
4

T TN
I ) PO 2
o e o S
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10, Huiling sets up the experiment as shown balow.

A

{
{
s
trough s i

\N} ich of th Mm ww ing changes would she ohsarve when she exhaled into
the rubber tuhe”

A B mw ware observed ir ﬂwm ater in the bell jar

B ! level in the tmum

c rievel in the bell jar rose,

9 ut _:zie:eg Wtr“e observed in the-water at the bottom of the

; een p 30 H Hm 3 ﬁ rivers ﬂowmq *{ hrou % ‘*’DU*MWM
Which town is most likely to be discharging u;t eated sewage?

Town me:a nlevel *| Numberoffish | Number of green plants
High Few Many
High Many Many
Low B Few Few
Low Many Few
wWww.misskoh.com
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12.  The diagram shows a rat and how it affects the environment.

haat enarqy
from: tha whole
oo body sur ace

o
it i :""m.
-~ ¥ wﬂﬁ‘ | -
carban dioxide
and water vapoul
in the exhaled air

uu'wvw‘(f" TR VO

: g
Ww;w’ﬁfﬂ?{ &\« S ottt ._""*

waste matter

Which of the\m!!owmq wd not replenish the natural resources in the
environment?

(1y  heatenergy
{2) . water vapour
(3) waste matter
(4)  carbon dioxide
13.  The graph below shows t ‘n@ changesinap t; n w"‘*“ QTKD@L\.{D%‘,YS and a
. population of cansumers in a lake over a peri a‘i tf me '
A e producers
«”‘W-‘w
f“l‘
& . consumers
Population o
A B

Time

There is a marked it nerease | i the population of pro Im ers between tima A
and time B. Which of the following is the cause of the increase in
population?

(1) The seeds deposited | m the lake germinated.
(2) More producers died because of overcrowdi T‘W
(3) - Farming fertiliser was washed into the lake which promoted gr owih

of producers.

(4) Some consumers died so there were fewer consumers to feed on
the producers

www Irnisskoh com
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14, Based on the diagrams of the dolphin and fish (not-drawn to scale), which

Y has a streamlined body shape,

B -h has a tall to propel itself forward in the water,
G s has a swim bladder to keep it afloal in water,
O }

h has a palr of ﬂiglv{érs; to help it keep batance in water,

{1y Aand B oonly
2y  AsndDonly
(3)  BandC only

(4) and D only

WWW Imisskoh com 590 of 618.




15, Three containers, X, ¥ and Z, were set up as shown below. Af the start of
the experiment, the carbon dioxide indicator in each container was red.
The carbon dioxide indicator changes from red to vellow when exposed to
increased amount of carbon dioxide.

light \“:‘
W

freshly .
plucked
leaf

Wire

meash

What will be the colour of the carbon dinxide indicator in each container
after 3 hours?

Test-tube X . Testiube Y Test-tube £
(1) red ] yellow vellow
(2) red vellow red
(3) yellow rad rad
(4) yellow red vellow
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18, Study the classification chart below.

ltem

Plastic hox Chicken bone
Styrofoam cup Vegetable
Glaas bhottle Silk blouse

X Y

{1 Ceramic plate - . -Newspaper

2) ~ Prawn shell  Biscuit

(3) Metal spoon Shhe

{4 Wooden chopstick Eraser
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7. Thespicture below shows the sun as viewed from Earth at daylime during
a«"’@olar) eclipse.

N

tiong of four different positions of the

The diagrams below show represents
Earth, Moon and Sun in our solar system.

@)

)

y o
) 2N
y / p—

Sy Moon

)

g
““““““ Moon
AT
( \\
o ’
Sun
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18, Ali pumped more air into an inflated basketball, He found that it became
harder,
Why did it beg

(N - in the basketball has escaped,
{2) * in the basketball has expanded,
(3 ir in the basketball was compressed further,

(4 The alr in the basketball has increased in volume.

18, oeg affect the

Step Method
1 Add some sall into a beaker of water,
)

Heat the solution, stirrng it continuously until all the salt dissoives.

3 | Measure the boiling point of the sofution.

4 | Repeat steps 1 to 3 using sugar.

5 | Repeat steps 110 3 using hone:

What variables must he keep constant in order to carry out a fair test ¥

A amount of water

5! mase of substance

G Mmhm noint of the solution

o initial temperature of the water
(\}\l *“&\.x
{3y A,
4y 5
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20. A big block of jce is left to melt on a piece of metal sheet as shown below.

F
: o !
tal shee ! v
metal sheet £ e : J
r - |
’ e pam o g |
#’a'w ’I*,_w g iy, Wwa h:\ ! Ay‘}
; S fon b g ‘«'
P o !
7 4 - ; '(,_.,uw i, —_— ,_3 E %‘:% }\If
o e f
‘»"' <\“H e B L) < } le\
T g BT J
; Iy B e WAL w’xm
» i
o !

-y
o

Which of the following statements are true when the fce is melting

A The temperature of the ice decreases.
B The metal sheet is losing heat to the ice,
C The water is gaining heat from the surroundings.

(1 Aonly

(2)  AandBonly
(3) BandConly
(4) A, Band G

21, Tworing magnets X and Y are put through a rod as shown below,

Rod

Why is magnet X suspended above magnet Y 7?

The rod is made of steel.

Magnet Y is a very weak magnet.

The like poles of both magnets face each ather.

The mass of magnet X is less than the mass of magnet Y,

S

i,
Y
e o Ll T
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22, The pie chart below shows the sources of air pollution in a city,

8% Solid waste disposal

8% Otherg
] o i R RN SRR Ll et
8% Haze from forost fires

) ‘”7, ‘i %i Irj ﬁ’ﬁ 550 i(‘) n B s ?
from industr
and power stations

48% Emissions from
vehicles

"

o

Based on the pie che
pollution in this city 7

A
3

G Wse energy-saving appliances.
L Lise public transport more often.

(1)
)
{3
@)
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23, The diagram below shows some human activities which affect the
environment.

paper
maxing
factory

Which human activity/activities is/are the main causes of acid rain?

Aand B only
B and C only
D and F only
Eand F only

RN S I L
W N

T

24, Which is the most suitable material to make a cooking pot?
3 g9

‘Material | Good conductor of heat ¥-—[igjni‘i melting point
(2) v 5

{3) ' x : v
@

. S kS

Key: v means characteristic present
% means characteristic absent
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26.

Which of 1

P 5

-
[N
P S

The table
A, B, G ang

A only
A and C
Band C only
A, Band G

he following process(es) show(s).an increase in heat 7

ting of butter

acow

ng of liquid wax

o N“BN

Beltw g

hows the melting points

Substance | Melting point (°C) | Boiling point (°C)
A 45 87
B 33 189
O T 5 28
D e 100

Al room tem
correct?

is in the solid state.

; w“\ and B are in the solid siate.
: s_w, a M C nre in

tht"* \; uid state,
2 gaseous state,

www misskoh com

ure (30°C), which of the following observation(s) isfare

nd boiling points of substances
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27.  Study the following set-up carefully.

o] B Ec51 | IO C e |
”m‘""m

f
f

I
/
/
{
/
J
f
[

Which of the following shows the correct relationship between the distance
of the light source from the pen and the length of the shadow?

Length of the |
shadow (cm)

k3

Distance of the light source from the pen {(cm)
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A5

W
L

on

3

aw the reflect

T Hes

o
AN

th a letter 'R

i

ard w

e
i

ac

»
=

T on

Nh \i

28,

shown balow.

Alex placed a

fachion?

ref

jive this

g

ror placed to

T

mirror
miror
mirror
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29, Faizal set up an electrical circuit as shown below to find out if 2 metal ruler
can conduct electricity. The bulb did not light up,
™

e
E
%
i
i
453
e
Eﬁ
’,E

battery e | e

1) The bulb is fused.

2) Bare wires are used.

3) © The bulb is connectad wrongly
4)  The arrangement of the batteries is wrong.
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30, Calvin connected four objects W, X, Y and Z to an slectrical cireuit as in
Figure 1.

Figure 1

He rearranged the positions of the objests as in Figure 2

——
v

Figure 2

~ Whatis most likely to happen in Figure | P

1 2 and 3 will light up.
2 2 and 4 will fight up.

& !m will ight up.
lone wt the butbs will fight up,

SN

iy, o,
Py
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PART Il (40 marks)

Answer the following guestions in the spaces provided,

31, The diagram shows the longitudinal section of two fruits, W and X {not
drawn to scale)., '

»
{;""\
7
4
)J“1
&
spad . . ki
\\\\\ - Iy
g, S
“““““““““““ A
¥/
3 A

In the table below, suggest how the fruits are dispersed and the
that aid them in their dispersal.

W
X

AN S

Fruit Method of dispersal \ Structure that aids in dispersal
1
L

32 Study the following diagram carefully.

Ao

—— M ~r
® &

M_\“
@ ) - @

Stage 1 Stage ? Stage 3
(a)  State the process that has cccurred at Stags 2. 1
ed? {1]

(D) In which part of the human body are sperms p rodue

[ S ——— T
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33, The apparatus shown below can he used to Hustrate the action of
1h

breathing.

\ ubber shest
S, m:; htly fixed (o

bell jar

Fill in the boxes with the ;mrt Qf the respiratory system that is represented

by each of the apparatus. {R’%
Apparatus Part of the Respiratory System 1
(&) bell jar !
i
o) | balioons i
{c) rubber sheet | g
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34, Meiling carried out an experiment using the four set-ups as shown helow,

Plaged in the light Placed in the dark

e —--__.___“_‘

damp cotton ==

waoo!
Satun?
Plased in the light Placed in the dark

Setup 3 . Setupd

(a) She observed that the seeds in some set-ups qu inated, In which

\ © set-ups did the seeds germinate? _ 1]
(b)Y If she wanted to find out whether water is needt

germination of seads, which 2 sel-Lps should sha choose for a tair

test? {1
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35,

am below shows the human digastive systern.

F*%v*mm‘“i on the diagram abe ve'and put atick M) A the correct boxes 1 for Fh@

following state -
| e Enlsa Not
N | possible to

(¢} | When a person suffers from

| diarrhoea it means that Parts B
and ¢ are not functioning wall,
(d) | Human waste leaves the body
through Part D

WWW IniSSkoh com 606 of 618




38,  The graph shows the number of people suffering from a particular disgase
over a number of years. Penicillin { an antibiotic ) is made gvailable to
treat the disease, caused by a certain type of bacteria, at ime A.

Nurnber
of people

suffering ' W‘“’“W
kL

from the : //’
diseass
ase . }J)‘ .
- H'j Mg w.ww“‘”w"w
ot ol
1 t ? %\ time
A £ C i

(a)  Based onthe graph, describe the effect of the use of the antibiotic

on the number of people suffering from the disease between e G .
and D, . ' ' 1l

(t) - Suggest a reason for the in

rease in the number of peopla suffering
from the disease after time L. ’

2

L
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37, Inthe diagram, the arrows A, B, and C represent different forms of energy.

=S

e

{a) State the forms of enargy reprasented by the following letters, 2]

(i A

8

ity the t‘\?pe&s of organism that might use the energy given out ?i'\t’.}fr.
the cow at C. 4
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38.

The diagram below shows th

ree types of fishes P, Q and R. The fishes
live amongst water plants in a river. A pr redator ut the 3 types of fishes is
introduced into the river.
water plant
MW‘ o “ .
m»«i ' o ‘m \\\\\ o i
g Ah”} ”zm._ -w ““““““““““““ wn}- Q2
i o
3L:3- b [ F= gy W q\\:«
RIS : S
"'::_“:":ywm-mn_mmmé_«,hm EE— wwhm ..... A S :' ....... \w PRy Tem— s
(a)  Based on the diagram, which fish P, Q, or R wmm most likely have
the greatest decrease in number? &

wm your answer,

(t

r

) After afew years, @ y similar-sized fourth type of fish S &
~theriver and beg_.,;an to Increass

5 in number more than all
types of fishes.

the other &

In the diagram below, draw the ikely bady pattern of Fish 5.

www misskoh com

609 of 618.




3¢, Two objects A and B are hung on a rod with the help of a lit candle as
shown in the diagram below, Object B is a holiow cone made of

cardhoard.

N

{a)  Whatwould happen to tha lever when the candle flame is removed 7?2

o

you & W about the mass of object A as compared to the
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40,  Three wheel and axle-systems, X, Y and Z, are used to lift the same load,
They are drawn to scale.

e ™
>
h‘ jf
toad ‘ load 1
v Z E— |

X Y

(a)  The table below shows the different amount of effort peeded when using
the 3 wheel and axle systems. Complete the table with the appropriate
wheel and axle system X, Y or Z that corresponds with the effort neaded

N

i

i

Wheel and axie system cffort needed to lift the
3

______________ —

|

i

i

9 ‘\

l

(b)  Arrange the wheel and axle systems above in ascending order of the
distance moved by the effort when the load moved the same distance.
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41, i“i:m“m:ﬁez\’te M—n m%mm below by filling each of the blanks with an

o, S B oy

approg
Carbon dioxide, & gas traps the heat from the Sun
and pravents it fro saping back into space easily. \ww—m the amount

enses excessively, the temper MUW of the Barth will

,leading to global warming. More : polar fce will

melt, the sea level will and bring about

in low-lying areas.
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42 Hamza and Jason carried out an experiment to find out how the ms 1 sa of
an object affects the length of a spring when the ob vject is hung on it They
recorded their resulis and plotted the graph below,

\ Spring A (Hamza's)

80 = Mﬂ“

70 . ‘
= ’_ / - Spring B (Jason’s)
S 60 ‘ ‘ - |
o) V ' MWW
= 50
O
V8]

< o _

[}

- 20
10

0

7

0 10 20 30 40 50 60 YO 80 80
Mass (@)

(2)  Whatis the mass of the object when their springs are of the same

h

flength ? ]

(b)  Find the extension of Spring B when an object wi ith'a mass of 60g

is hung on . ]
{c) Who has a stronger spring ¢
How could you tell that his spni ? 2
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43, - Complete the clagsification chart below with suitable words. 12

H
? .
| Good conductors
f of heat L |
| - a
~ i §
I
§ i Vo
L Magnetic g { | plastic l
| i 1 ]
| } o
| i
. [ - |
nickel \ cobalt 3 : ZinG copper %
4L % i ¥
44, The diagram below shows the movement of a ball when it bounces.
Starting ma;tlon '
A ,F'\
ftmw»w :
A
ey A S 4
A i/
S N
Ny e B
M\&% "\\3‘*\)

}%fﬁ;aré%
£

e i ad

e
o
Rt

v

¥

C

A

{o B
S4bb
Y L e 4r)

e

i G

it

{a)  State the position(s) Wh@ro the ball has the least gravitational
potential enargy. 1
(o)  State the energy conversion from Fos| ition A to Position C {1
— ! | | ] T
N S 1 : L |
energy energy energy
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45, Josephine covered three similar tins A, B and C with UIHD ant coloured
paper. She put a thermometer in each tin and fel the tins ’Ih@ sun. She
recorded the temperature of the air in the tins every two m nut

|

wuv-._.'
[ _’/,,w"‘?)

Tin A covered Tin8covered  Tin G covered
with white paper with black paper with red paper

She recorded the results in the table below,

Time (mMin) o (°C) I
Tin A |
0 28.0
2 28.0
4 28.5
6 29.0
8 28.0 \
10 205 }
(a)  What was the aim of Josephine's-experiment? i1
{s) What is the relationship bwtww the temperature of the airin the
tin an d the colour of the paper? 11
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A5, Michael and his three friends observed a ketile of water bolling and each
of them made an inference.

Michael : The steam has kinelic energy.

Shaun - . ¢ . There is more water vapour in the air now,

Clement : The temperature of the bofling water is rising.

Mathias o The mist coming out from the spout is in the gaseous
state.

{a)  Which two boys made the correct inferences? 1

() Explain why the other two inferences ware wrong.

Fepard

End of Paper
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HOKKIEN HUAY KUAN 3-SCHOOL PRIMARY 6
COMBINED PRELIMINARY EXAMINATION IT
SCIENCE

a3

1) 2 27)

2) 1 28) 4

-

3) 2 29) 3

o
T
£
g
&5
R
I

5) 1 31) Animal's fur

[a73
St
o)

Hair like structure to flost in air,
7Y 4 32) a) Fertilization

8) 4 - b) Testes

9) 7 33Y &) rib-cage

10) 1 b) lungs

11) 3 . : - ¢) diaphragm

12) 1 | | 34) a) Set-ups 1 and 2

13) 3 b) Set~ups 1 and 3

14) 1 35) a) False

15) 52 b) True

16) 1 ) Not possible to tell

17) 3 d) True

18) 3 36) The use of the antibiotic decresases the number

C ~of people suffering from the disease.
19) 2 - : ' :

"b) The bacteris has become resistant to the
20) 3 penicillin.
21) 3 37) a) i) Light energy

22) 3 ‘ ii) Heat energy

23) 2 c) Decomposer

[
I~
g
H
L
o
S
o

S

R. R does not have any patterns on its
body te help it to camoflage so iv is
25) 1 easily spotted by predators.

26) 2 b)
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39) a) The lever will tilt downwards at the end where B is,
b) A dis lighter than B.-
40) a) 7z |
Y
-X
R
@1) greenhouse

increase

5]

rise
Tloods
42) a) 20 g

b) 30 em

c) Jason, For the same mass, Jason's spring stretched less
than Hamza's spring

43D . c N _ Poor conductors of heat
Non-magnetic
iron steal

L4 a) €

b) Gravitational kinetic heat sound
potential

45) a) Tt is to find out which coloured
most heat. '

b) The darker the colour of the paper covering
the higher the temperature of the air insic

46 a) Michael and Shawn.

same at 100 v
rater droplets,

.

b) Temperature of boiling wate:
The mist is liguid state as

- M)
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